EM EKG Fundamentals Both patient’s vitals:

Patient 1: 48 year-old man with no known medical problems presenting with syncope HR: 83 BP: 120/80

Patient 2: 48 year-old woman with no known medical problems presenting with pre-syncope RR:12 02 Sat: 100%

What is your interpretation of Patient 1’s EKG?

History/Clinical Picture U Waves
Rate T Waves
Rhythm PR Interval
Axis QRS Width
P Waves ST Segment
Q/R/S Waves QT Interval

What is your interpretation of Patient 2’s EKG?

History/Clinical Picture U Waves
Rate T Waves
Rhythm PR Interval
Axis QRS Width
P Waves ST Segment
Q/R/S Waves QT Interval

Resource Links: Life in the Fast Lane Life in the Fast Lane Life in the Fast Lane Dr. Steve Smith’s Blog



http://lifeinthefastlane.com/ecg-library/basics/left-anterior-fascicular-block/
http://lifeinthefastlane.com/ecg-library/basics/left-posterior-fascicular-block/
http://lifeinthefastlane.com/ecg-library/trifascicular-block/
http://hqmeded-ecg.blogspot.com/2016/07/symptomatic-bradycardia-so-called.html

Patient 1’s EKG




Patient 2’s EKG
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Created by William Burns, MD



